Point:

Minimum level:
Game type:
Approximate time:

Dictation computer

weak forms (puzzle 1); assimilation (puzzle 2)

intermediate

a look and find puzzle for students working individually (or in pairs)
25 minutes

Preparation
Make a copy of the puzzie for each member of the class.

Presentation
1 Write the following phrases on the board. Ask students to pay special attention to the words
that are written in small letters as you read out each phrase in turn. Make sure that you use the
weak form of each word that is written in small letters.

WHAT'S her NAME? /'wpts o 'neim/

WHAT'S your NUMBER? /'wots jo 'nambo/

JOHN can SWIM /'d3pn kon 'swim/

TEA for TWO /iti: fo 'tu:/

the PRICE has FALLEN /3o 'prars oz 'fo:lon/

FISH and CHIPS /{1f on ‘t f1ps/

GO to BED /'gou to 'bed/

DOGS are FRIENDLY /‘dogz o 'frendly/

HAVE a DRINK /'haev o 'drink/

WHAT does SARAH DQO? /'wot doz 'seara du:/
2 Elicit or explain that the weak form words are grammatical words rather than items of
vocabulary. Ask students to try and pronounce the phrases with the weak forms.
3 Write up the following phrases on the board:

a major decision b made your decision
Explain that these could both be pronounced exactly the same when the weak form is
used - /'meirdzadr'sizan/.
4 Naturally, the context would clarify which of the two messages was meant. However, on
sound alone, they could not be distinguished. Consequently, if a computer were designed that
could write down everything that it heard, it might write Buying a fiouse is always a made your
decision instead of Buying a house is always a major decision.
5 Write the following phrase on the board and explain that it is something the dictation
computer wrote that contains a mistake:

Don’t lighter your mother!
Ask the class to try to identify the error. As a clue, you could give the reply:

Why not? She always lies to me!

Conducting the game
Give each student a puzzle. (The puzzie could also be done in pairs.) Leave students to find the
errors and solve the puzzle.



Dictation computer

Key Puzzle 1
The dictation computer should have written:

I'll ask her if ... (c)

-

2 | compose music ... (e)
3 The officers changed ... (a)
4 Did you see the waiter go ... (b)
5 ... is on the centre page. (d)
6 | picked your book ... (h)
7 Will you ever forgive me? (f)
8 ... shows all the cities and railways ... (j)
8 Spiders are not really insects ... (g)
10 ... are rival companies. (i)
Follow-up
A second version of the puzzie is similar, but focuses on assimilation. Here, the dictation
computer makes mistakes like this:
shop people instead of shot people
knock quickly instead of not quickly
dig carefully instead of did carefully

The reason for these mistakes is that the final consonant sound in each of the first words is
changed by the initial consonant sound in each of the second words.

Key Puzzle 2
The dictation computer should have written:
1 | don't like green. (c)
2 You should wipe plates ... (a)
3 ... I ran quickly ... (d)
4 We ate quite badly ... ()
5 ...gotothegym ... (b)
6 ... unless | warn my parents ... (f)
7 ... the term before last. (g)
8 This lead covering ... (i)
9 ... the family of the bride ... (j)
10 ... told us to wait quietly ... (h)
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(assimilation) Puzzle 2 Dictation computer
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